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Note : Four possible answers A, B, C and D to each question are given. The choice which you
think is correct, fill that circle in front of that question with Marker or Pen ink in the answer-book.
Cutting or filling two or more circles will result in zero mark in that question.

Which one is not the autonomous investment : ! ‘aﬂdj?,l.//@b?dj(zb/u’ufc,u.fJ”JZy/) 1.1
Construction of dam s /::;J (55 (B) Construction of roads ,:;Ju!/‘/ (A)
Expenditure on goods and services @j{&iﬁﬁfg" (D) Construction of hospitals (ggu)t}‘:;? (C)

Marginal propensity to consume is : § ?t‘ﬁdf’dl&”?‘? 9

Change in saving ; KiJas (B) Consumption <2 (A)
Consumption 3 Saving =
Consumption =2~ (D) Change in consumption iﬁuﬁd/ (C)
income L.},al' Change in income L,{);U.f&,cf
Which one is not the kind of cheque : = - f.?}(:’(,(..é, 3
Order cheque ugzup (B) Bearer cheque .J;;J’w (A)
Bank draft ».'*J’del’}: (D) Crossed cheque 202l (C)
Which one is not the function of money : : ﬁ:.uﬁ}d'lﬁufuﬁ‘/.ﬁdvu:éfgﬂut)'@/) 4
Common measure of value J.ﬁ;gbf}f’ (B) Medium of exchange JtJT (A)
Determination-interest rate uﬁ;K)r‘Z//:f (D) Transfer of value (7 kJ& (C)

On which kind of deposits, commercial banks do not pay interest or L/(/.‘.‘"’?;@L‘»g;rguf’ud(‘if;@d/?' 5
profit :

Saving deposits f&l.-:é (B) Time deposits L USbs (A)
Fixed deposits uf’l.i;g“ (D) Demand deposits QE’UU‘? (<)
Which one is not the function of'Cgh}r%f Bink among : g,u'.‘.‘U'Pu:f’/’f_ ,@dﬁ}vu&,uﬁ‘j’“m» 6
followings : f
* Issuance of currency notes t,/’/d/lg¢,) (A)
" ~To earn profit W/C’bﬂ (B)
" Re-discounting of bill of exchange ¢z o/yu{ugﬁq (C)
Controller of money market ,’b b6 (D)

Among the followings, according to which ~ : é'.t‘ﬁﬂu{}f%&&l&'h‘dt&:luﬂiﬁéd:’fﬁ u.‘.'J”}Zw; 7

principle every person pays the tax according to his financial capacity .

Canon of equality abt/dr"l (B): Canon of certainty u";idr" (A)
Canon of elasticity d/f/.gdy"! (D) Canon of simplicity d/)bfdr‘” (C)

Ratio of indirect taxes revenue in the tax : 9.,/%&*le,LnJ”ch,uy@»)w:wTdu/u:ut"/@ 8

revenue of Pakistan is :
4 56.60 % (D) 4 40.8 % (C) 44 19.2% (B) w4 70.0% (A)
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Mobility of goods and services within the boundary of a country is called : :‘¢‘}MJ/9JNJ_~>M5»?W’£J 9-1
Domestic trade :ukfuﬂ (B) International trade =S Ul (A)
National trade <=/ K] (D) Regional trade <36k (C)

In balance of trade includes : ¢ ujdﬂJLﬁufc«/lfuﬂ? 10
Trade of only visible goods ;«Jlf&?’df&/ (B) Trade of only invisible goods Q/Q&?’d/ﬁéd/ (A)
Trade of services .;Afp(ah,«} (D) Visible and invisible goods ;?'d//:;u’d/ (C)

Share of agriculture sector in the gross domestic product of Pakistanis : @ <-4 chbjuﬁ/bhg;f (Gd/ c)k"/‘/ L 11

44 27.0 % (D) w4 19.2 % (C) 4«43 48.2 % (B) w4 352 % (A)

Which is not the cause of Iow.per capita income in Pakistan : ! .;.Lﬁi?:d/ﬁ,ﬁ{&x TJ/L}U.’IU&"/L 12
Dependence on agriculture ./V;’{oﬁlu' (B) Scarcity of natural resources JJJ LA (A)
Developed industry Wﬁ&d? (D)  Shortage of capital JJLL/ ©)

Economic development means : i c‘-;’/cdf"uébﬂ 13

Increase in agricultural income  SWIE34T8. (B)  Increase in national income Slal &,o 89 (A)
increase in real national income)&'uf(}xfu'}&f} (D) Increase in employment SWIEEss (C)
Which one is not the cause of industrial backwardness : E guﬁ‘ixp( J»ViJmﬁ@l 14
Lack of capital d/&,t/ (B) Shortage of minerals _.-,L‘L_-.,gpf (A)
Fragmentation of lands u:”’/’xt‘:;l (D) Low quality of products slese/ b b5 (C)
Share of work force in total population of Pakistan is : : ‘ao}&:fffufd;gffb(uk"/’/g 15
42 21.8% (D) £ 51.0% (C) £ 323% (B) #£41.0% (A)
What is the length of Islamabad to Peshawar motorway (M-1) : cL'_dHL,((M—ﬂ:—)/‘/uL%b'}QT(U/' 16
3 b 4 » '
/»5}5/170 km (D) /f:g154 km (C) £ 160 km (B) ﬁ'}g130 km (A)
How much % share of deposits of ; .;.U»CLF W &g_’uf .:«»"J}@)MWMZZ l{u:@(? /ur/g..:h@bu} 17
Schedule Banks is kept as cash reserve by the State Bank of Pakistan :
w5 % (D) 4410 % (C) 4415 % (B) 43 20% (A)
Which one is the most expensive head in the expenditure of Central : <o} j4> KJ/ ik J&‘?’]’ il e Sr118
Government : L _
Administration J’J)(H (B) " Payment of interest ﬁb’p(»’ (A)
Defence Le (D) Economic services .:«L/éuﬁ b (C)
Pakistan imports : : ﬁ',b/;'f»ul"/@ 19
Textile products b4 S B¢ (B) Rice J:La (A)
Petroleum products abi‘”ﬁ)ﬁ (D) Sports goods ULVKU:&; ()
Which one is the alternate of interest free banking : : rT;J)l;“ KU Eadord |20
Tax Lﬁ (B) Musharika and mudaraba cf.JWn:/? (A)
Consumption of wealthe!ni (D) Payment of services ~ryali (C)
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( PART-1 J3l .»)
16 2. Write short answers to any Eight (8) questions : : é&@’lﬁ’?ﬁauv (8) e é/ <2
(i) Define national income. ‘éb.y/’]d/d,«l’d} 0]
(i) Describe personal income. ?:‘.)r/gc_&ﬁ&u (i)
(iii) How can avoid double count on the ?gl:ﬁ(gtfcga,%/:uuﬁjjgd/&i 789 (i)
measurement of national income?
(iv) State equilibrium of national income. ?‘a:ygc.i/uﬂ}%(&ﬂ'd} (iv)
(v) What is meant by barter system? ?cL_:‘/L[a,J:?..‘wW/. v)
(vi) Define demand for money. ?+:yg¢J&J (vi)
(vii) Write Fisher's equation of exchange. -éJ:P..:JAL/J /“’ (vii)
(viii) Write about speculative demand for money. ~2{J;¢¢/L£Jufd/u (viii)
(iX) What is demand deposits? Ut ié b \a‘/uw (ix)
(X) What is meant by credit creation? ?c‘:.;’/g;,&.’.%(zww (x)
(xi) Write bank rate policy of central bank. -éjﬂgu@zj&,@d// (xi)

(xii) What do you know about marginal requirement of SrZ b Tuﬁ;/gé"(‘ipgfu,éd/tf (xii)
commercial banks?

16 3. Write short answers to any Eight (8) questions : - éokli/;?éaﬂlr (8) Fle Jf -3
(i) Write the name of canon of taxation proposed by -éft&:U;’f’LU}/g)}/’{fLm’("JT (i)
Adam Smith.
(ii) What is a good tax? s t‘ﬁl;(fgbf’.g (i)
(i) What is progressive tax? (-’uf':ééJg:»’lf (iii)
(iv) Write the name of three kinds of public finance. -Zﬁiftl.(u“lﬂuﬂfoytdjl{/ (iv)
(v) What is multi-national corporation? Ut 2,'".'/5 ﬁ/{j/( YT ()

(vi) Explain classical theory of international & St L l.«'a:d/, }'jﬁﬁéazlfd s (Vi)

trade in three lines.

(vii) What is labour intensive technique? ?Lat‘ngj'l,g;a)’&fvj(g (vii)
(viii) Define balance of trade in three lines. -Lf_fuguizﬁ/ufﬁgﬁio/tfuﬂ;’ (viii)
(ix) Write the name of four important industries of Pakistan. _:’i’g( tﬁuﬁ"ﬁbgp@t}@ (ix)

(X) Explain the importance of education sector in -éuyut/%tgw@,ﬁiff’“u:uﬂg (x)
e Pakistan in four lines.
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3. (xi) What tax culture is in Pakistan? Write in four lines. -’&Uu.f/;"//kg Vﬁ;u/ﬁguguﬁu(“/@ (xi)

(xii) Give two suggestions to reduce poverty in Pakistan. _zfi}-{;t;,)zgfz.u;éa/'u:ubfg (xii)

18 4. Write short answers to any Nine (9) questions : : é@@iﬁ/‘?ﬁoﬂ’r 9) 9 < J/
(i) Write the definition of Meier and Baldwin about _aﬁg}Jagﬁwu/ungﬂuaﬂ (i)
economics.
(ii) write down three factors of economic development. _giugJ!fufé SIS (i)

(iii) Give your four suggestions for the solution of -é;z;gﬁjg@gé_/d’duffiuwg (iii)

industrial problems of Pakistan.

(iv) Compare unemployment and under employment. -”;;ﬂr(d%;u;(imd/?;m._ (iv)
(V) What is meant bgl labour force? ‘74‘;:‘/&’/4,.:,;’.6:'/.1 (V)
(vi) Write a short introduction of National Bank of _%{{fJ/Qf?KuW/gJ I’J.}J;: (vi)

Pakistan.
(vii) What is meant by money market? ?;.:yg’;u ATy (vii)

(viii) Write two sources of revenues of provincial ~2”_U/u,4 Téﬂ/:'»éu?ﬁégﬂJyL:Q (viii)

governments of Pakistan.
(ix) Point out four recipients of zakat. -é{fu‘ DJ%@LF:”// (ix)
(X) Write four major exports of Pakistan. -&V:,u T/,(”LU‘.(?JUM:L' (x)
(xi) Point out four causes of ,éw&’&;gzug@t}u: uﬂ?Lunguw’g (xi)
unfavourable balance of payments of Pakistan.
(xii) Why did Islam prohibit interest? ?guf;ur‘../(VJGré_(U/’ (xii)
(xiii) State in your own words the economic -Z'{uyufkw!zrlaf/&'uibfé@jdf‘} (xiii)

impacts of the elimination of wasteful consumption.

( PART-II ¢5 =)

Note : Attempt any THREE questions. -51;:[&&@0’}@5&‘5)/ Py

10 5. Explain quantity theory of money. _2_&(;;9 Lé;d/u'/l,&'f,:}j

10 6. Write instruments of credit money in detail. _égfklfﬁw;ﬂfﬂddzﬁ’

10 7. Elaborate advantages and disadvantages of international -éuyotuﬁuu’l;’io&’df}wuf
trade.

10 8. Describe the causes of inflation in Pakistan. ,éug.__,g/»f,ﬁu}wtgﬂg

10 9. Describe the characteristics of Islamic economic system. ,af_fug;,g»ﬂ"&w&vérw
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